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L= 12,200 + 0.100 + 0.100 = 12.400 ™
gLavey—r] [, t=0.100] |
A= 5.600 X 12.400 = 69,440
a A=[m?|  69.440
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{8 V2= 0.400 x 3.600 x 12.200 17.568
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Va=  1/2 x 0.200 x 0.200 x 12.200 x . 2 0. 488
TEER| V6= 5.400 x 0.400 X 12,200 = 26,352
V6= 1/2 x 5400 x 0.054
x {12,200 - 0.300 - 0.300) = 1. 691
avHy—r&et=| m®|  96.607
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A2= 0.500 x 5,400 2 = 5 400
= 17.600
BIEE A= 3.600 x 12.200 x 2 = §7.840
A2= 3.400 x 12.200 x 2 = 82.960
A3= 0.283 x 12,200 x 2 = 6.905
M= 0.400 x 3.600 x 2 X = 5760
AS=  1/2 x 0.200 x 0.200 x 2 10.080
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A= 1/2 x( 1.000 + 4.859 )x 2.000 5. 859
A= 1/2 x( 4.859 + 4.854 )x 0.500 = .2.428
A= 1/2 x( 0.354 + 0.300 )x 5 400 = 1.766
M= 1/2 x( 4800 + 4.795 )x 0.500 = 2.399
Ab= 1/2 x( 4.785 <+ 1.000 )x 2.000 = 5.79
18. 247 w?
(&)
Al= 1/2 x( 1.000 + 4.859 )x 2.000 5. 859
A2= 1/2 x( 4.859 4 4.854 )x 0.500 = 2428
A3=  1/2 x( 0.354 + 0.300 )x 5. 400 = 1.766
M= 1/2 x( 4.800 + 4.7956 ) x  0.500 = 2.399
Ab= 1/2 x( 4.795 + 1.000 )x 2000 = 5.79%
' 18. 247 o
Vi=  1/2 x( 18.247 + 18.247 ) x 0.300 = 5. 474
V2= 1/2 x  0.300 x 0.300 x 4.500 = 0.203
V3= 1/2 x 0.300 x 0.300 x 4.500 = (.203
E@I&E=  5.880
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E B &t & = Bl ¥ B
18| (arE)
A= 1/2 x( 1.000 + 4.788 )x 1.900 5. 499
A= 1/2 x( 4.788 + 4.800 )x 0.600 2.876
A= 1/2 x( 0.300 -+ 0.408 )x 5.400 = 1.912
M= 1/2 x( 4.908 + 4.916 )x 0.400 = 1,965
A5= 1/2 x( 4.916 + 1.000 ) x 2.100 = 6212
' 18. 464 m’
(5 7)
M= 1/2 x( 1.000 + 4.788 )x 1.900 5. 499
A= 1/2 x( 4.788 + 4.800 )x 0.600 = 2.876
A3=  1/2 x( 0.300 + 0.408 )x 5. 400 = 1.912
M= 1/2 x{ 4.908 + 4.916 )x 0.400 =  1.965
A= 1/2 x( 4.916 + 1.000 )x 2. 100 = 6.212
= 18,464 m?

Vi= 172 x( 18.464 + 18.464 ) x 0.300 5.539
V2= 1/2 x  0.300 x 0.300 x 4500 = 0.203
V3= 1/2 x 0.300 x 0.300 x 4.500 . = 0.203

HRGe= 5945

IvHY—hEE=| m®| 11.825




WIEEET (N0, 140+15.500)  BEE- 3
H H &t = = Blul# =
iU
E@| A= 18.247 + 18.247 36. 494
A2= 1.000 x  0.300 = 0 300
A= 4.364 x 0.300 = 1.309
A= 1.000 x 0.300 = 0.300
AS= 4.272 x 0,300 = 1.282
A6= 0.424 x  4.500 1.908
_A7= 0.300 x 4.500 x . 2 2,700
~A8= 4.500 x 0.300 = -1.350
A9= 0.424 x  4.500 1.908
“A10= 0.300 x 4.500 x 2 = -2.700
“Al1= 4500 x 0.300 = -1.350
~M2= 1/2 X 5.400 x  0.054 -0. 146
Efl&Er= - 3b.265
| Al= 18.464 + 18.464 = 36.928
A2= 1.000 x 0. 300 = 0.300
A3= 4.204 x  0.300 = 1261
M= 1.000 x 0. 300 = 0.300
AB= 4.481 x  0.300 = 1.344
A6= 0.424 x 4500 = 1.908
-A7= 0,300 x 4500 x 2 = -2.700
“A8= 4.500 x  0.300 = -1.350
A= 0.424 x 4 500 = 1.908
_A10= 0.300 x  4.500 x 2 = -2.700
| -At1= 4500 x 0300 = -1.350
~A12=  1/2 % 5400 x 0.054 = -0, 146
Hl&s= 35.703
Bget=| m?| 70.958




SISEET (NO. 140+15.500) BB 4
H H it =1 T Bl # =
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4
GED| M= 12 x  3.879 2. 000 3.879
M= 12 x 3775 2,000 = 3T
STEAEH = 7. 654
@] A= 12 x - 3.879 2,000 = 3879
M= 12 3.775 2,000 = 3775
SEaH = 7654
V= 1/2 x{ 7.654 + 7.654 )x 0.300 = 2 296
A |
@ | M= 172 3750 x 1.900 = 3563
A= 1/2 x 3958 2.100 = 4156
FESE = 7.719
@@ | = 12 x 3750 x 1,900 = 3563
M= 1/2 x 3958 x 2.100 — 4156
SEEH = 7719
V= 1/2 x( 7719 + 7719 )x 0.300 = 2.318] -
FHEITEE ==} 4612
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B _H at H X Bl # B

BT - | (B3]

] Al= 10.400 x  4.827 = 50, 201
A2= 1.400 x  4.867 : = 6.814

A3= 1.400 x 4.788 - = 6.703
Efl&E = 63718

AR Al= 10.400 x  4.854 = 50,482
A2= 1.400 x 4,933 = 6.906

A= 1.400 x 4.775 | = 6.685

GBRAE = 64.073

RIBAF= | 127.791

HEE = &9429 + EHyaoy o

D13 = 321 + 320 = 641 | ke 641
D16 = 0 + 0 = 0
Dig = 0 + 0 = 0
p22 = 804 + 7% = 1,603
D25 = 0 + 0 = 0| kg | 1,603
D29 = 0 + 0 0
D32 = o+ 0 = 0| ke 0
&t = 1,126 + 1,119 = 2,244 | kg | 2,244
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